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1. %R £ 20% &/ 5% :
(a) 40 & [0 & velocity potential » 358 0’0 / 0)° 84 B (N 4%]) & & 7
(b) 3% F# B potential flow, H T & A7
(c) 353288 streamline #1 pathline &9 & [
(d) # P Bernoulli’s 7 #2 X AT R R G4 TF TR

2. The equation of the stream function for a 2-D flow is given by
(x*/2) + xy =C
where C is a constant. Determine the velocity of a fluid particle at point (2, 3). (20%)

3. Ina2-D incompressible flow, the x component of velocity is given by u = 3x” — y. On the

x-axis, the y-component of velocity is given by v = 2/x. Please find the expression for v. (20%)

4. In a2-D incompressible flow, the velocity is given as
V=0(7/3+2—xyi+ ()’ —2y—x/3) ]
Please check whether this flow field represents an irrotational flow. (20%)

5. Fora 2-D incompressible flow with velocity potential O given as O = x” — 2)°. Please find the
pressure difference between (3, 2) and (5, -1). (20%)
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